# A NEW ALGORITHM FOR FINDING A COMMON SOLUTION OF A SPLIT VARIATIONAL INEQUALITY PROBLEM, THE FIXED POINT PROBLEMS AND THE VARIATIONAL INCLUSION PROBLEMS

WENLONG SUN, YANQIU LIU\*, YUANFENG JIN\* AND CHOONKIL PARK

(Communicated by J. Kyu Kim)

*Abstract.* In this paper, we present a new iterative algorithm for finding a common element of the set of solutions of a split variational inequality problem, the set of fixed points of an infinite family of nonexpansive mappings and the set of solutions of a variational inclusion problem in Hilbert spaces. Under some mild conditions imposed on algorithm parameters, we prove that the proposed iterative algorithm have strong convergence.

## 1. Introduction

Let *H* be a real Hilbert space with inner product  $\langle \cdot, \cdot \rangle$  and norm  $\|\cdot\|$ , respectively. Let *C* be a nonempty closed convex subset of *H*.

In this article, our study is related to a classical variational inequality problem (VIP) which aims to find an element  $x^{\dagger} \in C$  such that

$$\langle Bx^{\dagger}, x - x^{\dagger} \rangle \ge 0, \ \forall x \in C,$$
 (1.1)

where  $B: H \to H$  is a given operator. It is well known that  $x^{\sharp} \in VI(B,C)$  if and only if  $x^{\sharp} = P_C(x^{\sharp} - \zeta B x^{\sharp})$ , where  $\zeta > 0$ , in other words, the VIP is equivalent to the fixed point problem (see [2]).

Variational inequality problem (VIP) was introduced by Stampacchia [14] and provide a useful tool for researching a large variety of interesting problems arising in physics, economics, finance, elasticity, optimization, network analysis, medical images, water resources, and structural analysis. For some related work, please refer to References ([12], [13], [15]–[22]).

The another motivation of this article is the split common fixed point problem which aims to find a point  $u \in H_1$  such that

$$u \in Fix(T)$$
 and  $Au \in Fix(S)$ . (1.2)

The split common fixed point problem can be regarded as a generalization of the split feasibility problem. Recall that the split feasibility problem is to find a point satisfying

$$u \in C \text{ and } Au \in Q,$$
 (1.3)

\* Corresponding author.



Mathematics subject classification (2020): Primary 47H06, 47H09, 49J05, 47J25.

Keywords and phrases: Split common fixed point, variational inclusion, variational inequality, nonexpansive mappings.

where *C* and *Q* are two nonempty closed convex subsets of real Hilbert spaces  $H_1$  and  $H_2$ , respectively and  $A: H_1 \rightarrow H_2$  is a bounded linear operator. Inverse problems in various disciplines can be expressed as the split feasibility problems and the split common fixed point problem. Problem (1.2) was firstly introduced by Censor and Segal [26]. Note that solving (1.2) can be translated to solve the fixed point equation

$$u = S(u - \tau A^*(I - T)Au), \ \tau > 0.$$

Whereafter, Censor and Segal proposed an algorithm for directed operators. Since then, there has been growing interest in the split common fixed point problem ([23], [25], [27], [29]–[33]).

Now, we recall that the variational inclusion problem is to find an element  $x^{\dagger} \in C$  such that

$$\theta \in D(x^{\dagger}) + R(x^{\dagger}), \tag{1.4}$$

where  $D: C \to H$  is a single-valued mapping,  $R: C \to 2^H$  is a set-valued mapping and  $\theta$  is the zero vector in H.

The set of solutions of the problem (1.4) is denoted by I(D,R). If  $H = R^m$ , then the problem (1.4) becomes the generalized equation introduced by Robinson ([3]). If  $D \equiv 0$ , then the problem (1.4) becomes the inclusion problem introduced by Rockafellar ([4]). It is known that the problem (1.4) provides a convenient framework for the unified study of optimal solutions in many optimization related areas including mathematical programming, complementarity problems, variational inequalities, optimal control, mathematical economics, equilibria and game theory, etc. Also, various types of variational inclusions problems have been extended and generalized, for more details, refer to ([6]–[11]) and the references therein.

In this article, we will study the following split variational inequality problem of finding an element  $x^{\natural}$  such that

$$x^{\natural} \in Fix(S) \bigcap VI(B,C) \bigcap I(D,R) \text{ and } Ax^{\natural} \in \bigcap_{n=1}^{\infty} Fix(T_n) \bigcap VI(F,Q).$$
 (1.5)

Subsequently, we construct a new algorithm for solving the split variational inequality problem (1.5). Strong convergence theorems are established under some mild assumptions.

## 2. Preliminaries

In this section, we collect some tools including some definitions, useful inequalities and lemmas which will be used to derive our main results in the next section.

Let *H* be a real Hilbert space with inner product  $\langle \cdot, \cdot \rangle$  and norm  $\|\cdot\|$ , respectively. Let *C* be a nonempty closed convex subset of *H*. Let  $T : C \longrightarrow C$  be an operator. We use Fix(T) to denote the set of fixed points of *T*, that is,  $Fix(T) = \{u|u = Tu, u \in C\}$ .

First, we give some definitions related to the involed operators.

DEFINITION 2.1. An operator  $T: C \longrightarrow C$  is called to be nonexpansive if  $||Tu - Tv|| \leq ||u - v||$  for all  $u, v \in C$ .

DEFINITION 2.2. An operator  $T: C \longrightarrow C$  is called to be firmly nonexpansive if  $||Tu - Tv||^2 \le ||u - v||^2 - ||(I - T)u - (I - T)v||^2$  for all  $u, v \in C$ , or equivalently,

$$\langle Tu - Tv, u - v \rangle \ge \|Tu - Tv\|^2 \tag{2.1}$$

for all  $u, v \in C$ .

DEFINITION 2.3. An operator  $T : C \longrightarrow C$  is called to be  $\alpha$ -averaged, if there exists a nonexpansive operator U such that  $T = (1 - \alpha)I + \alpha U$ , where I is an identity mapping.

DEFINITION 2.4. An operator  $T : C \longrightarrow C$  is said to be quasinonexpansive if  $||Tx - x^{\dagger}|| \leq ||x - x^{\dagger}||$  for all  $x \in C$  and  $x^{\dagger} \in Fix(T)$ , or equivalently,

$$\langle x - Tx, x - x^{\dagger} \rangle \ge \frac{1}{2} \|x - Tx\|^2$$
 (2.2)

for all  $x \in C$  and  $x^{\dagger} \in Fix(T)$ .

REMARK 2.5. Obviously, if  $Fix(T) \neq \emptyset$ , then nonexpansive operators are quasinonexpansive operators.

DEFINITION 2.6. An operator  $T : C \longrightarrow C$  is said to be strictly quasinonexpansive if  $||Tx - x^{\dagger}|| < ||x - x^{\dagger}||$  for all  $x \in C$  and  $x^{\dagger} \in Fix(T)$ .

REMARK 2.7. It is well known that an averaged operator T with  $Fix(T) \neq \emptyset$  is strictly quasinonexpansive. For more details, Please refer to [1].

DEFINITION 2.8. An operator  $F: C \longrightarrow H$  is said to be  $\alpha$ -inverse strongly monotone if  $\langle Fx - Fx^{\dagger}, x - x^{\dagger} \rangle \ge \alpha ||Fx - Fx^{\dagger}||^2$  for some constant  $\alpha > 0$  and all  $x, x^{\dagger} \in C$ .

Usually, some additional smoothness properties of the mapping are required in the study of the convergence of fixed point algorithms, such as demi-closedness.

DEFINITION 2.9. An operator T is said to be demiclosed at w if, for any sequence  $\{u_n\}$  which weakly converges to  $u^*$ , and if  $Tu_n \longrightarrow w$ , then  $Tu^* = w$ .

Recall that the projection from H onto C, denoted  $P_C$ , assigns to each  $u \in H$ , the unique point  $P_C u \in C$  satisfying

$$||u - P_C u|| = inf\{||u - v|| : v \in C\}.$$

 $P_C$  can be characterized by

$$\langle u - P_C u, v - P_C u \rangle \leqslant 0 \tag{2.3}$$

for all  $u \in H, v \in C$ , and  $P_C : H \to C$  is firmly nonexpansive, that is,

$$\langle u - v, P_C u - P_C v \rangle \ge ||P_C u - P_C v||^2$$
  
or  $||P_C u - P_C v||^2 \le ||u - v||^2 - ||(I - P_C)u - (I - P_C)v||^2$ 

for all  $u, v \in H$ .

For all  $u, v \in H$ , the following conclusions hold:

$$\begin{aligned} \|tu + (1-t)v\|^2 &= t\|u\|^2 + (1-t)\|v\|^2 - t(1-t)\|u - v\|^2, \ t \in [0,1], \\ \|u + v\|^2 &= \|u\|^2 + 2\langle u, v \rangle + \|v\|^2 \end{aligned}$$

and

$$||u+v||^2 \leq ||u||^2 + 2\langle v, u+v \rangle.$$

In the following text, we employ the following notations:

- $u_n \rightharpoonup u$  stands for that  $\{u_n\}$  converges weakly to u;
- $u_n \rightarrow u$  stands for that  $\{u_n\}$  converges strongly to u;
- Fix(T) means the set of fixed points of T;
- $\omega_w(u_n)$  means the set of cluster points in the weak topology, that is,

$$\boldsymbol{\omega}_{w}(u_{n}) = \{\boldsymbol{u}: \exists u_{n_{i}} \rightharpoonup \boldsymbol{u}\}.$$

LEMMA 2.10. ([24]) Let H be a Hilbert space and  $C(\neq \emptyset) \subset H$  be a closed convex set. If  $F : C \to H$  is an  $\alpha$ -inverse strongly monotone operator, then

$$\|x - \gamma Fx - (y - \gamma Fy)\|^2 \leq \|x - y\|^2 + \gamma(\gamma - 2\alpha)\|Fx - Fy\|^2, \quad \forall x, y \in C.$$

*Especially,*  $I - \gamma F$  *is nonexpansive provided*  $0 \leq \gamma \leq 2\alpha$ *.* 

LEMMA 2.11. ([9]) Let C be a nonempty closed convex of a real Hilbert space H. Let  $T: C \to C$  be a nonexpansive mapping. Then I - T is demiclosed at zero, that is, if  $x_n \to x \in C$  and  $x_n - Tx_n \to 0$ , then x = Tx.

Let  $\{T_n\}_{n=1}^{\infty}$ :  $C \to C$  be an infinite family of nonexpansive mappings and  $\lambda_1, \lambda_2, \ldots$  be real numbers such that  $0 \le \lambda_i \le 1$  for each  $i \in \mathbb{N}$ . For any  $n \in \mathbb{N}$ , define a mapping  $W_n$  of *C* into *C* as follows:

$$U_{n,n+1} = I,$$

$$U_{n,n} = \lambda_n T_n U_{n,n+1} + (1 - \lambda_n) I,$$

$$U_{n,n-1} = \lambda_{n-1} T_{n-1} U_{n,n} + (1 - \lambda_{n-1}) I,$$
...
$$U_{n,k} = \lambda_k T_k U_{n,k+1} + (1 - \lambda_k) I,$$

$$U_{n,k-1} = \lambda_{k-1} T_{k-1} U_{n,k} + (1 - \lambda_{k-1}) I,$$
...
$$U_{n,2} = \lambda_2 T_2 U_{n,3} + (1 - \lambda_2) I,$$

$$W_n = U_{n,1} = \lambda_1 T_1 U_{n,2} + (1 - \lambda_1) I.$$
(2.4)

Such a mapping  $W_n$  is called the *W*-mapping generated by  $T_n, T_{n-1}, \ldots, T_1$  and  $\lambda_n, \lambda_{n-1}, \ldots, \lambda_1$ . We have the following crucial lemma concerning  $W_n$  in ([5]):

LEMMA 2.12. Let  $\{T_n\}_{n=1}^{\infty} : C \to C$  be an infinite family of nonexpansive mappings such that  $\bigcap_{n=1}^{\infty} Fix(T_n) \neq \emptyset$ . Let  $\lambda_1, \lambda_2, \ldots$  be real numbers such that  $0 \leq \lambda_i \leq b < 1$  for each  $i \geq 1$ . Then we have the following:

(1) For any  $x \in C$  and  $k \ge 1$ , the limit  $\lim_{n\to\infty} U_{n,k}x$  exists;

(2)  $Fix(W) = \bigcap_{n=1}^{\infty} Fix(T_n)$ , where  $Wx = \lim_{n \to \infty} W_n x = \lim_{n \to \infty} U_{n,1}x$ ,  $\forall x \in C$ ;

(3) For any bounded sequence  $\{x_n\} \subset C$ ,  $\lim_{n\to\infty} Wx_n = \lim_{n\to\infty} W_nx_n$ .

LEMMA 2.13. ([28]) Assume that  $\{\alpha_n\}$  is a sequence of nonnegative real numbers such that

$$\alpha_{n+1} \leq (1-\gamma_n)\alpha_n + \delta_n, \ n \in N,$$

where  $\{\gamma_n\}$  is a sequence in (0,1) and  $\{\delta_n\}$  is a sequence such that

(1)  $\sum_{n=1}^{\infty} \gamma_n = \infty;$ (2)  $\limsup_{n \to \infty} \frac{\delta_n}{\gamma_n} \leq 0 \text{ or } \sum_{n=1}^{\infty} |\delta_n| < \infty;$ Then  $\lim_{n \to \infty} \alpha_n = 0.$ 

### 3. Main results

Throughout the present article, let  $H_1$  and  $H_2$  be two real Hilbert spaces. Let  $C(\neq \emptyset) \subset H_1$  and  $Q(\neq \emptyset) \subset H_2$  be two closed convex sets. We use  $\langle \cdot, \cdot \rangle$  to denote the inner product and  $\|\cdot\|$  stands for the corresponding norm.

Next, we show two lemmas for quasinonexpansive operators. These lemmas will be very useful for our main theorem.

LEMMA 3.1. Let  $T_1 : C \to C$  be strictly quasinonexpansive operator, and let  $T_2 : C \to C$  be quasinonexpansive operator. Suppose that  $Fix(T_1) \cap Fix(T_2) \neq \emptyset$ . Then  $Fix(T_1) \cap Fix(T_2) = Fix(T_1T_2)$ .

*Proof.*  $Fix(T_1) \cap Fix(T_2) \subset Fix(T_1T_2)$  is obvious. We only need to prove that

$$Fix(T_1T_2) \subset Fix(T_1) \bigcap Fix(T_2).$$

Let  $x^{\sharp} \in Fix(T_1T_2)$  and  $z \in Fix(T_1) \cap Fix(T_2)$ . We consider the following two cases:

(i)  $T_2 x^{\sharp} \in Fix(T_1)$ . Then  $T_2 x^{\sharp} = T_1 T_2 x^{\sharp} = x^{\sharp}$ . Therefore,  $x^{\sharp} \in Fix(T_2) \cap Fix(T_1)$ .

(ii)  $T_2 x^{\sharp} \notin Fix(T_1)$ , and hence  $x^{\sharp} \notin Fix(T_2)$ . Since  $T_1$  is strictly quasinonexpansive, we have that  $||x^{\sharp} - z|| = ||T_1 T_2 x^{\sharp} - z|| < ||T_2 x^{\sharp} - z|| \leq ||x^{\sharp} - z||$ , which yields a contradiction.  $\Box$ 

REMARK 3.2. As a matter of fact, in Lemma 3.1, assuming that  $T_1 : C \to C$  is quasinonexpansive operator and  $T_2 : C \to C$  is strictly quasinonexpansive operator, the conclusion still holds.

LEMMA 3.3. Assume that  $\{\varpi_n\}$  is a sequence of nonnegative real numbers such that

where  $\{\alpha_n\}$  is a sequence in (0,1) such that  $\sum_{n=1}^{\infty} \alpha_n = \infty$ . Then  $\limsup_{n \to \infty} \delta_n \ge 0$ .

Proof. By contradiction, we suppose that

$$\limsup_{n\to\infty}\delta_n=-\kappa<0,$$

which implies that there exists large enough positive integer N such that  $\delta_n < -\frac{\kappa}{2}$  for all n > N. Note that

for all n > N. Thus,

Taking  $\limsup_{n\to\infty}$  in the last inequality, we have

$$0 \leqslant \limsup_{n \to \infty} \overline{\omega}_{n+1} \leqslant \overline{\omega}_{N+1} - \frac{\kappa}{2} \sum_{i=N+1}^{\infty} \alpha_i = -\infty,$$

which yields a contradiction. Consequently,  $\limsup_{n\to\infty} \delta_n \ge 0$ .  $\Box$ 

In the sequel, we state several assumptions and symbols:

(H1):  $A: H_1 \longrightarrow H_2$  is a bounded linear operator with its adjoint  $A^*$ .

(H2):  ${T_n}_{n=1}^{\infty} : Q \to Q$  is an infinite family of nonexpansive mappings.

(H3):  $S: C \longrightarrow C$  is a nonexpansive operator and  $S_{\delta} = (1 - \delta)I + \delta S$ , where  $\delta \in (0, 1)$ .

(H4):  $\lim_{n\to\infty} \alpha_n = 0$  and  $\sum_{n=0}^{\infty} \alpha_n = \infty$ .

(H5):  $B: C \to H_1$  is a  $\beta$ -inverse strongly monotone operator.

(H6):  $F: H_2 \rightarrow H_2$  is an  $\alpha$ -inverse strongly monotone operator.

(H7):  $D: C \rightarrow H_1$  is a  $\kappa$ -inverse strongly monotone operator.

(H8): R is a maximal monotone operator on H, such that the domain D(R) of R is included in C.

(H9):  $J_{R,\lambda} = (I + \lambda R)^{-1}$  is the resolvent of R for  $\lambda$ .

(H10):  $\Omega = \{x^{\natural} | x^{\natural} \in Fix(S) \cap VI(B,C) \cap I(D,R) \text{ and } Ax^{\natural} \in \bigcap_{n=1}^{\infty} Fix(T_n) \cap VI(F,Q) \}$ . Throughout this paper, we assume that  $\Omega \neq \emptyset$ .

REMARK 3.4. It is well known that the resolvent  $J_{R,\lambda}$  is firmly nonexpansive and  $R^{-1}0 = Fix(J_{R,\lambda})$  for all  $\lambda > 0$  (see [1]).

In the sequel, we present the following iterative algorithm to solve (1.5).

ALGORITHM 3.5. Let  $x^{\dagger} \in C$  be a fixed point. Let  $x_1 \in C$  be an initial value. Let  $\{\alpha_n\}$  be a real number sequence in (0,1). Let  $\gamma \in (0,2\beta)$ ,  $\zeta \in (0,2)$ ,  $\xi \in (0,2\alpha)$  and  $\lambda \in (0,2\kappa)$  be four real constants. Assume that the sequence  $\{x_n\}$  has been constructed. For the current iteration  $x_n$ , compute

$$y_n = x_n - S_{\delta} P_C (I - \gamma B) x_n,$$
  

$$z_n = A x_n - W_n P_Q (I - \xi F) A x_n.$$
(3.2)

*Case* 1. If  $||y_n + A^* z_n|| \neq 0$ , then continue and construct  $x_{n+1}$  via the following manner

$$u_n = P_C(x_n - \zeta \tau_n(y_n + A^* z_n)),$$
  

$$x_{n+1} = \alpha_n x^{\dagger} + (1 - \alpha_n) J_{R,\lambda}(u_n - \lambda D u_n)$$
(3.3)

where

$$\tau_n = \frac{\|y_n\|^2 + \|z_n\|^2}{\|y_n + A^* z_n\|^2}.$$
(3.4)

*Case* 2. If  $||y_n + A^* z_n|| = 0$ , then continue and construct  $x_{n+1}$  via the following manner

$$x_{n+1} = \alpha_n x^{\dagger} + (1 - \alpha_n) J_{R,\lambda} (x_n - \lambda D x_n).$$
(3.5)

REMARK 3.6. Observing that  $S_{\delta}$ ,  $W_n$  and W are averaged operators and therefore strictly quasinonexpansive operators, in view of Lemma 3.1, we obtain that

$$Fix(S_{\delta}P_C(I - \gamma B)) = Fix(S_{\delta}) \bigcap VI(B, C) = Fix(S) \bigcap VI(B, C)$$
$$Fix(W_n P_Q(I - \xi F)) = Fix(W_n) \bigcap VI(F, Q)$$

and

$$Fix(WP_Q(I-\xi F)) = Fix(W) \bigcap VI(F,Q)$$

From now on, we will divide our main result into several propositions.

**PROPOSITION 3.7.**  $||y_n + A^* z_n|| = 0$  if and only if  $x_n \in \Omega_n$ , where

$$\Omega_n = \{ x^{\natural} | x^{\natural} \in Fix(S) \bigcap VI(B,C) \text{ and } Ax^{\natural} \in Fix(W_n) \bigcap VI(F,Q) \} \neq \emptyset.$$

Evidently,  $\Omega \subset \Omega_n$ .

*Proof.* Noting that  $Fix(W_n) = \bigcap_{j=1}^n Fix(T_j)$  (see Lemma 3.1 in [5]), it is obvious that  $x_n \in \Omega_n$  then  $||y_n + A^*z_n|| = 0$ . To see the converse, assume that  $||y_n + A^*z_n|| = 0$ .

In virtue of Lemma 2.10, we have that  $S_{\delta}P_C(I - \gamma B)$  and  $W_nP_Q(I - \xi F)$  is nonexpansive. Then, for any  $x^{\dagger} \in \Omega_n$ , in the light of Definition 2.4, we can derive

$$0 = \langle y_n + A^* z_n, x_n - x^{\dagger} \rangle$$
  

$$= \langle x_n - S_{\delta} P_C(I - \gamma B) x_n, x_n - x^{\dagger} \rangle$$
  

$$+ \langle A^*(I - W_n P_Q(I - \xi F)) A x_n, x_n - x^{\dagger} \rangle$$
  

$$= \langle x_n - S_{\delta} P_C(I - \gamma B) x_n, x_n - x^{\dagger} \rangle$$
  

$$+ \langle (I - W_n P_Q(I - \xi F)) A x_n, A x_n - A x^{\dagger} \rangle$$
  

$$\geq \frac{1}{2} (\|x_n - S_{\delta} P_C(I - \gamma B) x_n\|^2 + \|(I - W_n P_Q(I - \xi F)) A x_n\|^2)$$
  

$$= \frac{1}{2} (\|y_n\|^2 + \|z_n\|^2).$$
  
(3.6)

It follows that

$$||x_n - S_{\delta} P_C (I - \gamma B) x_n||^2 + ||(I - W_n P_Q (I - \xi F)) A x_n||^2 = 0,$$

which implies that  $x_n \in Fix(S_{\delta}P_C(I - \gamma B))$  and  $Ax_n \in Fix(W_nP_Q(I - \xi F))$ . In view of Remark 3.6, we have that  $x_n \in Fix(S) \cap VI(B,C)$  and  $Ax_n \in Fix(W_n) \cap VI(F,Q)$ , that is,  $x_n \in \Omega_n$ . This completes the proof.  $\Box$ 

**PROPOSITION 3.8.** The sequence  $\{x_n\}$  generated by Algorithm 3.5 is bounded.

*Proof.* Let  $x^{\flat} \in \Omega$ , that is,  $P_C(x^{\flat} - \zeta B x^{\flat}) = J_{R,\lambda}(x^{\flat} - \lambda D x^{\flat}) = S x^{\flat} = x^{\flat}$  for  $\zeta, \lambda > 0$ , and  $P_Q(Ax^{\flat} - \xi F A x^{\flat}) = T_n A x^{\flat} = A x^{\flat}$  for  $\forall \xi > 0$  and all  $n \ge 1$ . First, in case 1, by virtue of (3.6), we can derive that

$$\begin{aligned} \|u_{n} - x^{\flat}\| &= \|P_{C}(x_{n} - \varsigma\tau_{n}(y_{n} + A^{*}z_{n})) - x^{\flat}\|^{2} \\ &\leq \|x_{n} - x^{\flat} - \varsigma\tau_{n}(y_{n} + A^{*}z_{n})\|^{2} \\ &\leq \|x_{n} - x^{\flat}\|^{2} + \varsigma^{2}\tau_{n}^{2}\|y_{n} + A^{*}z_{n}\|^{2} - 2\langle\varsigma\tau_{n}(y_{n} + A^{*}z_{n}), x_{n} - x^{\flat}\rangle \\ &\leq \|x_{n} - x^{\flat}\|^{2} + \varsigma^{2}\tau_{n}^{2}\|y_{n} + A^{*}z_{n}\|^{2} - \varsigma\tau_{n}(\|y_{n}\|^{2} + \|z_{n}\|^{2}) \\ &\leq \|x_{n} - x^{\flat}\|^{2} - \varsigma(1 - \varsigma)\frac{(\|y_{n}\|^{2} + \|z_{n}\|^{2})^{2}}{\|y_{n} + A^{*}z_{n}\|^{2}} \end{aligned}$$
(3.7)

and consequently,

$$\begin{aligned} \|x_{n+1} - x^{\flat}\| &= \|\alpha_{n}x^{\dagger} + (1 - \alpha_{n})J_{R,\lambda}(u_{n} - \lambda Du_{n}) - x^{\flat}\| \\ &= \|\alpha_{n}(x^{\dagger} - x^{\flat}) + (1 - \alpha_{n})(J_{R,\lambda}(u_{n} - \lambda Du_{n}) - x^{\flat})\| \\ &\leqslant \alpha_{n}\|x^{\dagger} - x^{\flat}\| + (1 - \alpha_{n})\|J_{R,\lambda}(u_{n} - \lambda Du_{n}) - x^{\flat}\| \\ (by(3.10)) &\leqslant \alpha_{n}\|x^{\dagger} - x^{\flat}\| + (1 - \alpha_{n})\|u_{n} - x^{\flat}\| \\ (by(3.7)) &\leqslant \alpha_{n}\|x^{\dagger} - x^{\flat}\| + (1 - \alpha_{n})\|x_{n} - x^{\flat}\| \\ &\leqslant \max\{\|x^{\dagger} - x^{\flat}\|, \|x_{n} - x^{\flat}\|\}. \end{aligned}$$
(3.8)

In case 2, we can obtain that

$$\begin{aligned} \|x_{n+1} - x^{\flat}\| &= \|\alpha_n x^{\dagger} + (1 - \alpha_n) J_{R,\lambda} (x_n - \lambda D x_n) - x^{\flat}\| \\ &= \|\alpha_n (x^{\dagger} - x^{\flat}) + (1 - \alpha_n) (J_{R,\lambda} (x_n - \lambda D x_n) - x^{\flat})\| \\ &\leqslant \alpha_n \|x^{\dagger} - x^{\flat}\| + (1 - \alpha_n) \|J_{R,\lambda} (x_n - \lambda D x_n) - x^{\flat}\| \\ &(by(3.12)) \leqslant \alpha_n \|x^{\dagger} - x^{\flat}\| + (1 - \alpha_n) \|x_n - x^{\flat}\| \\ &\leqslant \max\{\|x^{\dagger} - x^{\flat}\|, \|x_n - x^{\flat}\|\}. \end{aligned}$$
(3.9)

Hence, by induction, we deduce

 $\|x_{n+1} - x^{\flat}\| \leq \max\{\|x^{\dagger} - x^{\flat}\|, \|x_n - x^{\flat}\|\} \leq \dots \leq \max\{\|x^{\dagger} - x^{\flat}\|, \|x_1 - x^{\flat}\|\}.$ Therefore, the sequence  $\{x_n\}$  is bounded.  $\Box$ 

THEOREM 3.9. Under the assuptions (H1)-(H10), the sequence  $\{x_n\}$  generated by Algorithm 3.5 converges strongly to  $P_{\Omega}x^{\dagger}$ .

Proof. Let 
$$x^{\flat} = P_{\Omega}x^{\dagger}$$
. In case 1, observe that  
 $\|J_{R,\lambda}(u_n - \lambda Du_n) - x^{\flat}\|^2$   
 $= \|J_{R,\lambda}(u_n - \lambda Du_n) - J_{R,\lambda}(x^{\flat} - \lambda Dx^{\flat})\|^2$   
 $\leq \|(u_n - \lambda Du_n) - (x^{\flat} - \lambda Dx^{\flat})\|^2 - \|(I - J_{R,\lambda})(u_n - \lambda Du_n) - (I - J_{R,\lambda})(x^{\flat} - \lambda Dx^{\flat})\|^2$   
 $\leq \|u_n - x^{\flat}\|^2 + \lambda(\lambda - 2d)\|Du_n - Dx^{\flat}\|^2$  (3.10)  
 $- \|u_n - J_{R,\lambda}(u_n - \lambda Du_n) - \lambda(Du_n - Dx^{\flat})\|^2$   
 $\leq \|x_n - x^{\flat}\|^2 - \zeta(1 - \zeta)\frac{\|y_n\|^2 + \|z_n\|^2}{\|y_n + A^* z_n\|^2} + \lambda(\lambda - 2d)\|Du_n - Dx^{\flat}\|^2$   
 $- \|u_n - J_{R,\lambda}(u_n - \lambda Du_n) - \lambda(Du_n - Dx^{\flat})\|^2$ .

Hence, we get

$$\begin{split} \|x_{n+1} - x^{\flat}\|^{2} &= \|\alpha_{n}(x^{\dagger} - x^{\flat}) + (1 - \alpha_{n})(J_{R,\lambda}(u_{n} - \lambda Du_{n}) - x^{\flat})\|^{2} \\ &\leq (1 - \alpha_{n})\|J_{R,\lambda}(u_{n} - \lambda Du_{n}) - x^{\flat}\|^{2} + 2\alpha_{n}\langle x^{\dagger} - x^{\flat}, x_{n+1} - x^{\flat}\rangle \\ &\leq (1 - \alpha_{n})(\|x_{n} - x^{\flat}\|^{2} - \zeta(1 - \zeta)\frac{\|y_{n}\|^{2} + \|z_{n}\|^{2}}{\|y_{n} + A^{*}z_{n}\|^{2}} + \lambda(\lambda - 2d)\|Du_{n} - Dx^{\flat}\|^{2} \\ &- \|u_{n} - J_{R,\lambda}(u_{n} - \lambda Du_{n}) - \lambda(Du_{n} - Dx^{\flat})\|^{2}) \\ &+ 2\alpha_{n}\langle x^{\dagger} - x^{\flat}, x_{n+1} - x^{\flat}\rangle \\ &\leq (1 - \alpha_{n})\|x_{n} - x^{\flat}\|^{2} + \alpha_{n}[2\langle x^{\dagger} - x^{\flat}, x_{n+1} - x^{\flat}\rangle \\ &- \frac{1 - \alpha_{n}}{\alpha_{n}}\zeta(1 - \zeta)\frac{(\|y_{n}\|^{2} + \|z_{n}\|^{2})^{2}}{\|y_{n} + A^{*}z_{n}\|^{2}} + \frac{1 - \alpha_{n}}{\alpha_{n}}\lambda(\lambda - 2d)\|Du_{n} - Dx^{\flat}\|^{2} \\ &- \frac{1 - \alpha_{n}}{\alpha_{n}}\|u_{n} - J_{R,\lambda}(u_{n} - \lambda Du_{n}) - \lambda(Du_{n} - Dx^{\flat})\|^{2}]. \end{split}$$

In case 2, note that

$$\begin{split} \|J_{R,\lambda}(x_n - \lambda Dx_n) - x^{\flat}\|^2 \\ &= \|J_{R,\lambda}(x_n - \lambda Dx_n) - J_{R,\lambda}(x^{\flat} - \lambda Dx^{\flat})\|^2 \\ &\leq \|(x_n - \lambda Dx_n) - (x^{\flat} - \lambda Dx^{\flat})\|^2 \\ &- \|(I - J_{R,\lambda})(x_n - \lambda Dx_n) - (I - J_{R,\lambda})(x^{\flat} - \lambda Dx^{\flat})\|^2 \\ &\leq \|x_n - x^{\flat}\|^2 + \lambda(\lambda - 2d)\|Dx_n - Dx^{\flat}\|^2 \\ &- \|x_n - J_{R,\lambda}(x_n - \lambda Dx_n) - \lambda(Dx_n - Dx^{\flat})\|^2 \end{split}$$
(3.12)

and therefore,

$$\begin{aligned} \|x_{n+1} - x^{\flat}\|^{2} &= \|\alpha_{n}(x^{\dagger} - x^{\flat}) + (1 - \alpha_{n})(J_{R,\lambda}(x_{n} - \lambda Dx_{n}) - x^{\flat})\|^{2} \\ &\leq (1 - \alpha_{n})\|J_{R,\lambda}(x_{n} - \lambda Dx_{n}) - x^{\flat}\|^{2} + 2\alpha_{n}\langle x^{\dagger} - x^{\flat}, x_{n+1} - x^{\flat}\rangle \\ &\leq (1 - \alpha_{n})(\|x_{n} - x^{\flat}\|^{2} + \lambda(\lambda - 2d)\|Dx_{n} - Dx^{\flat}\|^{2} \\ &- \|x_{n} - J_{R,\lambda}(x_{n} - \lambda Dx_{n}) - \lambda(Dx_{n} - Dx^{\flat})\|^{2}) \\ &+ 2\alpha_{n}\langle x^{\dagger} - x^{\flat}, x_{n+1} - x^{\flat}\rangle \\ &\leq (1 - \alpha_{n})\|x_{n} - x^{\flat}\|^{2} + \alpha_{n}[2\langle x^{\dagger} - x^{\flat}, x_{n+1} - x^{\flat}\rangle \\ &- \frac{1 - \alpha_{n}}{\alpha_{n}}\|x_{n} - J_{R,\lambda}(x_{n} - \lambda Dx_{n}) - \lambda(Dx_{n} - Dx^{\flat})\|^{2} \\ &+ \frac{1 - \alpha_{n}}{\alpha_{n}}\lambda(\lambda - 2d)\|Dx_{n} - Dx^{\flat}\|^{2}]. \end{aligned}$$
(3.13)

Now, let  $\overline{\omega}_n = ||x_n - x^{\flat}||$  and

$$\pi_{n} = \begin{cases} 2\langle x^{\dagger} - x^{\flat}, x_{n+1} - x^{\flat} \rangle - \frac{1 - \alpha_{n}}{\alpha_{n}} \zeta(1 - \zeta) \frac{(\|y_{n}\|^{2} + \|z_{n}\|^{2})^{2}}{\|y_{n} + A^{*}z_{n}\|^{2}} \\ - \frac{1 - \alpha_{n}}{\alpha_{n}} \|u_{n} - J_{R,\lambda}(u_{n} - \lambda Du_{n}) - \lambda (Du_{n} - Dx^{\flat})\|^{2} \\ + \frac{1 - \alpha_{n}}{\alpha_{n}} \lambda (\lambda - 2d) \|Du_{n} - Dx^{\flat}\|^{2}, \qquad \text{case } 1, \qquad (3.14) \\ 2\langle x^{\dagger} - x^{\flat}, x_{n+1} - x^{\flat} \rangle + \frac{1 - \alpha_{n}}{\alpha_{n}} \lambda (\lambda - 2d) \|Dx_{n} - Dx^{\flat}\|^{2} \\ - \frac{1 - \alpha_{n}}{\alpha_{n}} \|x_{n} - J_{R,\lambda}(x_{n} - \lambda Dx_{n}) - \lambda (Dx_{n} - Dx^{\flat})\|^{2}, \qquad \text{case } 2. \end{cases}$$

According to (3.11), (3.13) and (3.14), we can obtain

$$\overline{\omega}_{n+1} \leqslant (1-\alpha_n)\overline{\omega}_n + \alpha_n \pi_n, \ n \ge 1.$$
(3.15)

Evidently,  $\pi_n \leq 2\langle x^{\dagger} - x^{\flat}, x_{n+1} - x^{\flat} \rangle \leq 2 ||x^{\dagger} - x^{\flat}|| \times ||x_{n+1} - x^{\flat}||$ . Hence, the sequence  $\{\pi_n\}$  is bounded due to the boundedness of  $\{x_n\}$ . Thanks to Lemma 3.3, we obtain

 $0 \leq \limsup_{n \to \infty} \pi_n < +\infty$ . Therefore, there exists a subsequence  $\{\pi_{n_k}\}$  of  $\{\pi_n\}$  such that

$$\lim_{n \to \infty} \sup \pi_n = \lim_{k \to \infty} \pi_{n_k}.$$
(3.16)

From now on, without loss of generality, we assume that  $x_{n_k} \rightarrow \hat{x}$  owing to the boundedness of the sequence  $\{x_n\}$ . Suppose that there exists a subsequence  $\{\pi_{n_{k_j}}\}$  of  $\{\pi_{n_k}\}$  in case 1. Note that

$$\begin{split} \limsup_{n \to \infty} \pi_{n} &= \lim_{k \to \infty} \pi_{n_{k}} = \lim_{j \to \infty} \pi_{n_{k_{j}}} \\ &= \lim_{j \to \infty} 2\langle x^{\dagger} - x^{\flat}, x_{n_{k_{j}}+1} - x^{\flat} \rangle - \frac{1 - \alpha_{n_{k_{j}}}}{\alpha_{n_{k_{j}}}} \varsigma(1 - \varsigma) \frac{(\|y_{n_{k_{j}}}\|^{2} + \|z_{n_{k_{j}}}\|^{2})^{2}}{\|y_{n_{k_{j}}} + A^{*}z_{n_{k_{j}}}\|^{2}} \\ &- \frac{1 - \alpha_{n_{k_{j}}}}{\alpha_{n_{k_{j}}}} \|u_{n_{k_{j}}} - J_{R,\lambda}(u_{n_{k_{j}}} - \lambda D u_{n_{k_{j}}}) - \lambda (D u_{n_{k_{j}}} - D x^{\flat})\|^{2} \\ &+ \frac{1 - \alpha_{n_{k_{j}}}}{\alpha_{n_{k_{j}}}} \lambda (\lambda - 2d) \|D u_{n_{k_{j}}} - D x^{\flat}\|^{2}. \end{split}$$
(3.17)

Due to the boundedness of real sequence  $\{\langle x^{\dagger} - x^{\flat}, x_{n_{k_j}+1} - x^{\flat} \rangle\}$ , without loss of generality, we may assume  $\lim_{j\to\infty} \langle x^{\dagger} - x^{\flat}, x_{n_{k_j}+1} - x^{\flat} \rangle$  exists. Then we have that the following limits also exists

$$\lim_{j \to \infty} \frac{1 - \alpha_{n_{k_j}}}{\alpha_{n_{k_j}}} \zeta(1 - \zeta) \frac{(\|y_{n_{k_j}}\|^2 + \|z_{n_{k_j}}\|^2)^2}{\|y_{n_{k_j}} + A^* z_{n_{k_j}}\|^2},$$
(3.18)

$$\lim_{j \to \infty} \frac{1 - \alpha_{n_{k_j}}}{\alpha_{n_{k_j}}} \|u_{n_{k_j}} - J_{R,\lambda}(u_{n_{k_j}} - \lambda D u_{n_{k_j}}) - \lambda (D u_{n_{k_j}} - D x^{\flat})\|^2$$
(3.19)

and

$$\lim_{j\to\infty}\frac{1-\alpha_{n_{k_j}}}{\alpha_{n_{k_j}}}\lambda(\lambda-2d)\|Du_{n_{k_j}}-Dx^{\flat}\|^2.$$
(3.20)

It follows from (3.18) that

$$\lim_{j \to \infty} \frac{(\|y_{n_{k_j}}\|^2 + \|z_{n_{k_j}}\|^2)^2}{\|y_{n_{k_j}} + A^* z_{n_{k_j}}\|^2} = 0.$$
(3.21)

By the boundedness of the sequence  $\{y_n + A^* z_n\}$ , we have

$$\lim_{j \to \infty} \|y_{n_{k_j}}\|^2 + \|z_{n_{k_j}}\|^2 = 0,$$
(3.22)

which implies that

$$\lim_{j \to \infty} \|y_{n_{k_j}}\| = \lim_{j \to \infty} \|x_{n_{k_j}} - S_{\delta} P_C(I - \gamma B) x_{n_{k_j}}\| = 0$$
(3.23)

and

$$\lim_{j \to \infty} \|z_{n_{k_j}}\| = \lim_{j \to \infty} \|Ax_{n_{k_j}} - W_{n_{k_j}}P_Q(I - \xi F)Ax_{n_{k_j}}\| = 0.$$
(3.24)

Evidently,  $S_{\delta}P_C(I - \gamma B) : C \to C$  is nonexpansive. Applying Lemma 2.11 to (3.23), we have

$$\hat{x} = S_{\delta} P_C (I - \gamma B) \hat{x}. \tag{3.25}$$

In virtue of Remark 3.6, we can derive that  $\hat{x} \in Fix(S) \cap VI(B,C)$ . It follows from (3.20) and (3.19) that

$$\lim_{j \to \infty} \|D u_{n_{k_j}} - D x^{\flat}\| = 0$$
(3.26)

and

$$\lim_{j \to \infty} \|u_{n_{k_j}} - J_{R,\lambda}(u_{n_{k_j}} - \lambda D u_{n_{k_j}}) - \lambda (D u_{n_{k_j}} - D x^{\flat})\|^2 = 0.$$
(3.27)

Hence, we have that

$$\lim_{j \to \infty} \|u_{n_{k_j}} - J_{R,\lambda}(u_{n_{k_j}} - \lambda D u_{n_{k_j}})\| = 0.$$
(3.28)

Note that

$$\begin{split} \lim_{j \to \infty} \|u_{n_{k_j}} - x_{n_{k_j}}\| &= \lim_{j \to \infty} \|P_C(x_{n_{k_j}} - \zeta \tau_{n_{k_j}}(y_{n_{k_j}} + A^* z_{n_{k_j}})) - P_C x_{n_{k_j}}\| \\ &\leqslant \lim_{j \to \infty} \zeta \|\tau_{n_{k_j}}(y_{n_{k_j}} + A^* z_{n_{k_j}})\| \\ &= \lim_{j \to \infty} \zeta \frac{\|y_{n_{k_j}}\|^2 + \|z_{n_{k_j}}\|^2}{\|y_{n_{k_j}} + A^* z_{n_{k_j}}\|} \\ &= 0, \end{split}$$
(3.29)

which implies that  $u_{n_{k_j}} \rightarrow \hat{x}$ . Since  $J_{R,\lambda}(I - \lambda D)$  is nonexpansive, applying Lemma 2.12 to (3.28), we have

$$\hat{x} = J_{R,\lambda} \left( \hat{x} - \lambda D \hat{x} \right),$$

which implies that  $\hat{x} \in I(D,R)$ . In the light of the boundedness of the sequence  $P_Q(I - \xi F)Ax_n$  and Lemma 2.12, we obtain that

$$\lim_{j\to\infty} \|WP_Q(I-\xi F)Ax_{n_{k_j}}-W_{n_{k_j}}P_Q(I-\xi F)Ax_{n_{k_j}}\|=0.$$

This together with (3.24) implies that

$$\lim_{j \to \infty} \|Ax_{n_{k_j}} - WP_Q(I - \xi F)Ax_{n_{k_j}}\| = 0.$$
(3.30)

1688

Since  $WP_Q(I - \xi F)$  is nonexpansive, in view of Lemma 2.12, we have that

$$A\hat{x} = WP_Q(I - \xi F)A\hat{x}.$$
(3.31)

Thanks to Remark 3.6, we can also get that  $A\hat{x} \in Fix(W) \cap VI(F,Q)$ . Hence, we obtain that  $\hat{x} \in \Omega$ .

Next, we assume that there exists a subsequence  $\{\pi_{n_{k_j}}\}$  of  $\{\pi_{n_k}\}$  in case 2, by Proposition 3.7, we get that  $x_{n_{k_j}} \in \Omega_{n_{k_j}}$ , that is,  $x_{n_{k_j}} \in Fix(S) \cap VI(B,C)$  and  $Ax_{n_{k_j}} \in Fix(W_{n_{k_j}}) \cap VI(F,Q)$ . Hence, we have that  $\hat{x} \in Fix(S) \cap VI(B,C)$ ,  $A\hat{x} \in VI(F,Q)$  and  $Ax_{n_{k_j}} = W_{n_{k_j}}Ax_{n_{k_j}}$ . Therefore, by virtue of the boundedness of the sequence  $\{Ax_n\}$ , applying Lemma 2.12, we have that

$$\lim_{j \to \infty} \|WAx_{n_{k_j}} - W_{n_{k_j}}Ax_{n_{k_j}}\| = \|WAx_{n_{k_j}} - Ax_{n_{k_j}}\| = 0.$$
(3.32)

Since *W* is nonexpansive, by Lemma 2.12, we derive that  $A\hat{x} = WA\hat{x}$ , that is,  $A\hat{x} \in Fix(W)$ . Observe that

$$\limsup_{n \to \infty} \pi_n = \lim_{k \to \infty} \pi_{n_k} = \lim_{j \to \infty} \pi_{n_{k_j}}$$
$$= \lim_{j \to \infty} 2\langle x^{\dagger} - x^{\flat}, x_{n_{k_j}+1} - x^{\flat} \rangle + \frac{1 - \alpha_{n_{k_j}}}{\alpha_{n_{k_j}}} \lambda(\lambda - 2d) \|Dx_{n_{k_j}} - Dx^{\flat}\|^2 \qquad (3.33)$$
$$- \frac{1 - \alpha_{n_{k_j}}}{\alpha_{n_{k_j}}} \|x_{n_{k_j}} - J_{R,\lambda}(x_{n_{k_j}} - \lambda Dx_{n_{k_j}}) - \lambda(Dx_{n_{k_j}} - Dx^{\flat})\|^2.$$

Subsequently, we may assume that the limit  $\lim_{n\to\infty} \langle x^{\dagger} - x^{\flat}, x_{n_{k_j}+1} - x^{\flat} \rangle$  exists. Then, the following two limits also exists:

$$\lim_{j \to \infty} -\frac{1 - \alpha_{n_{k_j}}}{\alpha_{n_{k_j}}} \|x_{n_{k_j}} - J_{R,\lambda}(x_{n_{k_j}} - \lambda D x_{n_{k_j}}) - \lambda (D x_{n_{k_j}} - D x^{\flat})\|^2$$
(3.34)

and

$$\lim_{j\to\infty}\frac{1-\alpha_{n_{k_j}}}{\alpha_{n_{k_j}}}\lambda(\lambda-2d)\|Dx_{n_{k_j}}-Dx^{\flat}\|^2.$$
(3.35)

By a similar argument as in case 1, we have

$$\lim_{j \to \infty} \|x_{n_{k_j}} - J_{R,\lambda} (x_{n_{k_j}} - \lambda D x_{n_{k_j}})\| = 0$$
(3.36)

and therefore  $\hat{x} = J_{R,\lambda}(\hat{x} - \lambda D\hat{x})$  which implies that  $\hat{x} \in I(D,R)$ . Consequently,  $\hat{x} \in \Omega$ . In case 1, from (3.3), we get

$$\begin{aligned} \|x_{n_{k_{j}}+1}-x_{n_{k_{j}}}\| &= \|\alpha_{n_{k_{j}}}x^{\dagger} + (1-\alpha_{n_{k_{j}}})J_{R,\lambda}(u_{n_{k_{j}}}-\lambda Du_{n_{k_{j}}}) - x_{n_{k_{j}}}\| \\ &\leqslant \alpha_{n_{k_{j}}}\|x^{\dagger}-x_{n_{k_{j}}}\| + (1-\alpha_{n_{k_{j}}})\|u_{n_{k_{j}}} - x_{n_{k_{j}}}\| \\ &+ (1-\alpha_{n_{k_{j}}})\|J_{R,\lambda}(u_{n_{k_{j}}}-\lambda Du_{n_{k_{j}}}) - u_{n_{k_{j}}}\|. \end{aligned}$$
(3.37)

It follows from (3.28) and (3.29) that

$$\lim_{j \to \infty} \|x_{n_{k_j}+1} - x_{n_{k_j}}\| = 0.$$
(3.38)

In case 2, from (3.5), we have

$$\|x_{n_{k_{j}}+1}-x_{n_{k_{j}}}\| = \|\alpha_{n_{k_{j}}}x^{\dagger} + (1-\alpha_{n_{k_{j}}})J_{R,\lambda}(x_{n_{k_{j}}}-\lambda Dx_{n_{k_{j}}}) - x_{n_{k_{j}}}\| \leq \alpha_{n_{k_{j}}}\|x^{\dagger}-x_{n_{k_{j}}}\| + (1-\alpha_{n_{k_{j}}})\|J_{R,\lambda}(x_{n_{k_{j}}}-\lambda Dx_{n_{k_{j}}}) - x_{n_{k_{j}}}\|.$$
(3.39)

By (3.36), we derive that

$$\lim_{j \to \infty} \|x_{n_{k_j}+1} - x_{n_{k_j}}\| = 0.$$
(3.40)

Hence, in case 1 or case 2,  $x_{n_{k_i}+1} \rightharpoonup \hat{x} \in \Omega$ . Therefore,

$$\lim \sup_{n \to \infty} \pi_n \leqslant \lim_{j \to \infty} \langle x^{\dagger} - x^{\flat}, x_{n_{k_j}+1} - x^{\flat} \rangle = \langle x^{\dagger} - x^{\flat}, \hat{x} - x^{\flat} \rangle \leqslant 0.$$
(3.41)

Finally, applying Lemma 2.13 to (3.15), we get  $x_n \to x^{\flat} = P_{\Omega} x^{\dagger}$  which ends the proof.

ALGORITHM 3.10. Let  $x^{\dagger} \in C$  be a given point. Let  $x_1 \in C$  be an initial value. Let  $\{\alpha_n\}$  be a real number sequence in (0,1). Let  $\gamma \in (0,2\beta)$ ,  $\varsigma \in (0,2)$  and  $\xi \in (0,2\alpha)$  be three real constants. Assume that the sequence  $\{x_n\}$  has been constructed. For the current iteration  $x_n$ , compute

$$y_n = x_n - SP_C(I - \gamma B)x_n,$$
  

$$z_n = Ax_n - W_n P_O(I - \xi F)Ax_n.$$
(3.42)

*Case* 1. If  $||y_n + A^* z_n|| \neq 0$ , then continue and construct  $x_{n+1}$  via the following manner

$$u_n = P_C(x_n - \zeta \tau_n(y_n + A^* z_n)), x_{n+1} = \alpha_n x^{\dagger} + (1 - \alpha_n) u_n$$
(3.43)

where

$$\tau_n = \frac{\|y_n\|^2 + \|z_n\|^2}{\|y_n + A^* z_n\|^2}.$$
(3.44)

*Case* 2. If  $||y_n + A^*z_n|| = 0$ , then continue and construct  $x_{n+1}$  via the following manner

$$x_{n+1} = \alpha_n x^{\dagger} + (1 - \alpha_n) x_n. \tag{3.45}$$

COROLLARY 3.11. Let

$$\hat{\Omega} = \{ x^{\natural} | x^{\natural} \in Fix(S) \bigcap VI(B,C) \text{ and } Ax^{\natural} \in \bigcap_{n=1}^{\infty} Fix(T_n) \bigcap VI(F,Q) \}.$$

Suppose that  $\hat{\Omega} \neq \emptyset$ . Under the assuptions (H1)–(H6), the sequence  $\{x_n\}$  generated by Algorithm 3.10 converges strongly to  $P_{\hat{\Omega}}x^{\dagger}$ .

ALGORITHM 3.12. Let  $x^{\dagger} \in C$  be a given point. Let  $x_1 \in C$  be an initial value. Let  $\{\alpha_n\}$  be a real number sequence in (0,1). Let  $\zeta \in (0,2)$  be a real constants. Assume that the sequence  $\{x_n\}$  has been constructed. For the current iteration  $x_n$ , compute

$$y_n = x_n - Sx_n,$$
  

$$z_n = Ax_n - W_n Ax_n.$$
(3.46)

*Case* 1. If  $||y_n + A^* z_n|| \neq 0$ , then continue and construct  $x_{n+1}$  via the following manner

$$u_n = P_C(x_n - \varsigma \tau_n(y_n + A^* z_n)),$$
  

$$x_{n+1} = \alpha_n x^{\dagger} + (1 - \alpha_n) u_n$$
(3.47)

where

$$\tau_n = \frac{\|y_n\|^2 + \|z_n\|^2}{\|y_n + A^* z_n\|^2}.$$
(3.48)

*Case* 2. If  $||y_n + A^*z_n|| = 0$ , then continue and construct  $x_{n+1}$  via the following manner

$$x_{n+1} = \alpha_n x^{\dagger} + (1 - \alpha_n) x_n.$$
 (3.49)

COROLLARY 3.13. Let

$$\hat{\Omega} = \{x^{\natural} | x^{\natural} \in Fix(S) \text{ and } Ax^{\natural} \in \bigcap_{n=1}^{\infty} Fix(T_n)\}.$$

Suppose that  $\hat{\Omega} \neq \emptyset$ . Under the assuptions (H1)–(H4), the sequence  $\{x_n\}$  generated by Algorithm 3.12 converges strongly to  $P_{\hat{\Omega}}x^{\dagger}$ .

## **Declarations**

Availablity of data and materials. Not applicable.

Competing interests. The authors declare that they have no competing interests.

*Fundings.* This work was supported by National Natural Science Foundation of China (No. 11761074), Project of Jilin Science and Technology Development for

Leading Talent of Science and Technology Innovation in Middle and Young and Team Project (No. 20200301053RQ), and Natural Science Foundation of Jilin Province (No. 2020122336JC)

*Authors' contributions.* The authors equally conceived of the study, participated in its design and coordination, drafted the manuscript, participated in the sequence alignment, and read and approved the final manuscript.

#### REFERENCES

- [1] H. H. BAUSCHKE, P. L. COMBETTES, Convex Analysis and Monotone Operator Theory in Hilbert Spaces, Springer, New York (2011).
- [2] W. TAKAHASHI, Introduction to Nonlinear and Convex Analysis, Yokohama Publishers, Yokohama (2009).
- [3] S. M. ROBINSON, Generalized equation and their solutions, part I: Basic theory, Mathematics Programs of Study 10 (1979) 128–141.
- [4] R. T. ROCKAFELLAR, Monotone operators and the proximal point algorithm, SIAM Journal on Control and Optimization 14 (1976) 877–898.
- [5] K. SHIMOJI, W. TAKAHASHI, Strong convergence to common fixed points of infinite nonexpassive mappings and applications, Taiwanese Journal of Mathematics 5 (2001) 387–404.
- [6] R. U. VERMA, General system of (A,g)-monotone variational inclusion problems based on generalized hybrid iterative algorithm, Nonlinear Analysis: Hybrid Systems 1 (2007) 326–335.
- [7] R. AHMAD, J. IQBAL, S. AHMED AND S. HUSAIN, Solving a variational inclusion problem with its corresponding resolvent equation problem involving XOR-Operation, Nonlinear Funct. Anal. and Appl., 24 (3) (2019), 691–713, doi.org/10.22771/nfaa.2019.24.03.10.
- [8] K. AFASSINOU, O. K. NARAIN AND O. E. OTUNUGA, Iterative algorithm for approximating solutions of split monotone variational inclusion, variational inequality and fixed point problems in real Hilbert spaces, Nonlinear Func. Anal. Appl., 25 (3) (2020), 491–510, doi.org/10.22771/nfaa.2020.25.03.06.
- [9] K. GOEBEL, W. A. KIRK, *Topics in metric fixed point theory*, Cambridge: Cambridge Univ Press, 1990. (Cambridge studies in advanced mathematics).
- [10] S. S. ZHANG, H. W. LEE JOSEPH, C. K. CHAN, Algorithms of common solutions for quasi variational inclusion and fixed point problems, Applied Mathematics and Mechanics (English Edition) 29 (2008) 571–581.
- [11] J. W. PENG, Y. WANG, D. S. SHYU, J. C. YAO, Common solutions of an iterative scheme for variational inclusions, equilibrium problems and fixed point problems, Journal of Iequalities and Applications 2008 (2008) 15, Article ID 720371.
- [12] H. ZHOU, Y. ZHOU, G. FENG, Iterative methods for solving a class of monotone variational inequality problems with applications, J. Inequal. Appl. 2015, 68 (2015).
- [13] G. M. KORPELEVICH, An extragradient method for finding saddle points and for other problems, Ékon. Mat. Metody 12, 747–756 (1976).
- [14] G. STAMPACCHIA, Formes bilineaires coercivites surles ensembles convexes, C. R. Acad. Sci. 1964, 258, 4413–4416.
- [15] B.-F. SVAITER, A class of Fejér convergent algorithms, approximate resolvents and the hybrid proximal extragradient method, J. Optim. Theory Appl. 2014, 162, 133–153.
- [16] Y. YAO, Y.-C. LIOU, S.-M. KANG, Approach to common elements of variational inequality problems and fixed point problems via a relaxed extragradient method, Comput. Math. Appl. 2010, 59, 3472– 3480.
- [17] J. S. JUNG, Strong convergence of general iterative algorithms for pseudocontractive mappings in Hilbert spaces, Nonlinear Func. Anal. Appl., 24 (2) (2019), 389–406, doi.org/10.22771/nfaa.2019.24.02.10.
- [18] J. K. KIM, P. N. ANH AND T. T. H. ANH AND N. D. HIEN, Projection methods for solving the variational inequalities involving unrelated nonexpansive mappings, J. Nonlinear and Convex Analysis, 21 (11) (2020), 2517–2537.

- [19] K. MUANGCHOO, A viscosity type projection method for Solving pseudomonotone variational inequalities, Nonlinear Funct. Anal. and Appl., 26 (2) (2021), 347–371, doi.org/10.22771/nfaa.2021.26.02.08.
- [20] F. QI, D. LIM, B.-N. GUO, Explicit formulas and identities for the Bell polynomials and a sequence of polynomials applied to differential equations, Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat. 2018, in press.
- [21] F. QI, D.-W. NIU, B.-N. GUO, Some identities for a sequence of unnamed polynomials connected with the Bell polynomials, Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Math. 2018, in press.
- [22] M.-L. YE, Y.-R. HE, A double projection method for solving variational inequalities without mononicity, Comput. Optim. Appl. 2015, 60, 141–150.
- [23] Q. H. ANSARI, A. REHAN AND C. F. WEN, Implicit and explicit algorithms for split common fixed point problems, J. Nonlinear Convex Anal., 17 (2016), 1381–1397.
- [24] Y. YAO, Y.-C. LIOU, J.-C. YAO, Split common fixed point problem for two quasi-pseudocontractive operators and its algorithm construction, Fixed Point Theory Appl. 2015, 2015, 127.
- [25] O. A. BOIKANYO, A strongly convergent algorithm for the split common fixed point problem, Appl. Math. Comput., 265 (2015), 844–853.
- [26] Y. CENSOR, A. SEGAL, The split common fixed point problem for directed operators, J. Convex Anal. 2009; 16: 587–600.
- [27] S. Y. CHO, X. QIN, J.-C. YAO, et al., Viscosity approximation splitting methods for monotone and nonexpansive operators in Hilbert spaces, J Nonlinear Convex Anal. 2018; 19: 251–264.
- [28] H. K. XU, Iterative algorithms for nonlinear operators, J. Lond. Math. Soc. 66, 240–256 (2002).
- [29] P. KRAIKAEW, S. SAEJUNG, On split common fixed point problems, J Math Anal Appl. 2014; 415: 513–524.
- [30] A. MOUDAFI, The split common fixed-point problem for demicontractive mappings, Inverse Probl. 2010; 26: 055007.
- [31] W. TAKAHASHI, The split common fixed point problem and strong convegence theorems by hybrid methods in two Banach spaces, J. Nonlinear Convex Anal. 2016; 17: 1051–1067.
- [32] Y. H. YAO, Y. C. LIOU, M. POSTOLACHE, Self-adaptive algorithms for the split problem of the demicontractive operators, Optimization. 2018; 67: 1309–1319.
- [33] YONGHONG YAO, MIHAI POSTOLACHE, ZHICHUAN ZHU, Gradient methods with selection technique for the multiplesets split feasibility problem, Optimization, 2020; 69:2, 269–288.

(Received March 25, 2021)

Wenlong Sun Department of Mathematics, School of Science ShenYang University of Technology Shenyang 110870, P. R. China e-mail: sun\_math@sut.edu.cn

> Yanqiu Liu School of Management Shenyang University of Technology Shenyang 110870, P. R. China e-mail: liuyanqiu@sut.edu.cn

> > Yuanfeng Jin Department of Mathematics Yanbian University Yanji 133001, P. R. China e-mail: yfkim@ybu.edu.cn

Choonkil Park Research Institute for Natural Sciences Hanyang University Seoul 04763, Korea e-mail: baak@hanyang.ac.kr